f& #& N R &

TR ] T3 STAR [l P 225 R P 4 R AR A

TR —TH1 4% 14+

=23
=]

B
H
=t




4 i e i AT & | fii
BHEREL
S ERE
1
e
R I E S
1
e
m#E
R E
1
e
BGE B
1
e
— i
1
e
{EREATIHE
1
e
THE LA Y%
1 WEBIE 10 %
e
e
1
e

B
=
=t



ERERLRI N AR

% % % | & @ fi
B
1
.
BRRERE
1
.

B
=
=t



AR A H BINGER

4 i % & HLAL & # i
FRARIERE
1
.
PR ERE
1
.

B
=
=t




EEERE FHEBINGR

BRERE
4 g # iy HANL 4 %A i
A, B REGR
1
"
B. AR
1
"

B
H
=t




EEERE R EBINR

ERARIERE
R A W AR A W OB |HAZ & # ]
A, TECHE(
1
X
B. RS
1
%

B
=
=t



REERE M E BINER
JEIRAEE A EAERGER
4 gy ] B2 B & = Xiva il 4 % fi

SRR FHSAT< SO

11900 20msKi  FEIE 1, 296

HL TR - ER i
Fy MRFEAV-ME Y (B4 15

1,296
/NEAY ME D BMATER] - BB - HAKH
(EM%EX) 149
SRR
(GN =579 149
#E
(BIRSIE) 1,634
HERE AT
(BRSIE) 1,634
7t

B
=




HEEERE  AE BINER

BAR(ERE B. ER(EHKE
4 PR i 2 B & =X vA il & H fisi
FMEE & i 2N R = X
(' -T3%) 1, 634
”
TAT W IV=T 470" 940
TR 1, 634
i
WEAFRF ST -
DI R 229
m
BEAAAUa) A g 25
45
m
BETE R 2
72.5
m
TS e - 70" WA LB 0. AN T
(PRYE VN 229
m
R - AR L B0 W =M R0, 400 T
120
i
R D=0 =9 LERAR 0. 40T
40
m
RERUCA TR 2 B0 W =M 0. 400 T
64. 3
m
B D=0 29 BEHAR 0. 470 T
7.2
m
N =7 V= R 2 (5507 =068 . 4N T
600 X 45075 £ 7
=Yt DaFT
Fik4H L-50%50%4 @A Av¥
281
m
EfIRE K 1.-50%50%4
oy 281
m
y=v)" — R 2Rk )% (MS-2)
15X10 64. 3
m
BGREE
1
%
B - B
T 1
%
[




EEERE FHEBINGR

WEMERE
4 g # iy HANL 4 %A i
A, B REGR
1
"
B. EBAR A& RE
1
"

B
H
=t




EEERE R EBINR

B ERE
R A W AR A W OB |HAZ & # i
A, TECHE(
1
X
B. IR E AR
1
.

B
=
=t



HERERE B BIPER 10
B EHE A, R
Z4 R i i ¥ = HAfL il & #H fii
N R PR 5. TmEL 9. ImAi;
< EVERHE HMATR - TRt 909
(F9 0 1750 ot
W E RS B4, ol T
(ef&) HMATR - T It 63
Irf
KRR =4
909
IRAE A
77 =y=FaE D 63
i
B (NEWE) (=T 27—V
K YzFLy7 vk JE0. 15 249
nt
PR AT
(NEBLE) 972

k=110




EEERE A H BIPER

11

PR AE B. EBiR &
4 gin ] B2 &= BANT if & A i
RIF HBIEIARST E&156
VYT =k 994
(B3 1) nf
it




12

B

EXBEERE AN

o
=
&
4
=
= "]
o
%
e

® e

=

®

i

=
s



mRaEERE  FFHEBINGR 13
4 g ¥ # BN 4 %A i
A, FEATE% A
X
|



bR B & B % Wil

i
&
%.

i

X

B
H
=t




wERafiERE M E BIPIER 15
KR A. BT
4 PR i B & =X vA il & H fisi
LEDFE B &5 B S a
18

1]
FREAER B A L2
A gy 3 18

1
FREAER B A L2
B gy 3 2

1

B
=




16

mfex B (FE 1) B
4 gy ] g B &= Hifir il 4 % fisi
ABRINT )= 1200 X 800
30

B
=




